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B.Ed. (H.I.) (Special Education) (Second Semester)

EXAMINATION, June-2021
PEDAGOGY OF TEACHING SCIENCE TO STUDENTS OF HI.

Time : Three Hours

Maximum Marks : 80 Minimum Pass Marks : 32
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(1) Attempt any four short answer type questions from Section 4’. Answer
of each question in about 100-150 words. Each question carries 8
marks.

(i1) Attempt any three long answer type questions from Section ‘B’. Answer
of each question in about 400-500 words. Each question carries 16
marks.

Qusg (37)

(Section A)
gHfRd fo1e | =179 1 wHe § 2 Ta9M, 1599 1 T 9Hfhd & =il § 2 8
What do you mean by Integrated Education ? Why is science as an Integrated
areaof study ?

oA & etk 3T T TR0 HifeT | 8
Classified the educational aims of Bloom.
o freror 6t ST fafy =01 wwemed | 8
Explain the Project method of Science teaching.
Tt TR T Sedfaeh 32 i R1&70 § YfHeRT Twesd | 8
Explain therole in teaching of Zoological museum and Botanical garden.
TR ohl STEHRUN hl TI6E I G THh! STETIHAT hl FHATE | 8
Clarify the concept of Evaluation and Explain its Need.
Qg ()

(Section B)
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16

What do you understand by Lesson Planning ? Prepare an ideal 1esson plan on
any onetopic of class|X.
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7. fowkar d=ui & ¥<d H YANRIET o IYh0N Rl T@-T@d a7 Jeed TR ==
IS | 16
Discuss the maintenance and management of laboratory equipments in the
reference of disabled children.

8. fogm foreror § AT SUNH <l THSEY TS 3% STAN TR == il | 16
Explain the constructivist Approach in science teaching and discuss its uses.

9. fomm fireror # gv9- 917 Teds Tl i STavIhal Ud Hee W Y9l Sifeid | 16
Throw light on need and importance of Audio-visual aidsin teaching Science.

10. Seifaer gheur 3R Sy qderor = § 7 SUaife qderu k1 fAHior Y kg €2

REEIERE 16
What is Diagnostic test and Achievement test ? How to prepare achievement
test ? Explain it.
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